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SO FAR WE HAVE EXAMINED

THE BASIC ASPECTS OF

CHEMICAL REACTORS t
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FOR SIMPLE CASES
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A "COMPLICATION" THAT HAS NOT

YET BEEN ADDRESSED
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1 OTHER HOOS KEEPING ITEM

DON 'T ALWAYS BELIEVE WHAT

YOU READ .
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( MORE DETAILED) EXAMINATION OF
MULTI -STEP (CATALYTIC) REACTIONS
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O ZONE DECOMPOSITION
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CAN SHOW . . .
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FINALLY r - - THE REAL NAME

OF THE CHAPTER - . .

THE STEADY - STATE APPROXIMATION
--
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BEING GOOD CHEMICAL ENGINEERS WE

PLOT THE RESULT

HIS LOOKS

INTERESTING

NOT MUCH B
,
AND DOESN'TCHANGE . .
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X -_ exp that )

y -- the exec- e. t )

w = I- expfk , t )

THIS IS THE SOLUTION TO !
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" STEADY-STATE "

ASSUMPTION .
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SIMPLIFICATION FOR

REACTION INTERMEDIATES . . .


